REFEsHW SHCEE
RXxBB 48988 58138 68178 78168 888B 9848 10838 118138 12898 18148
KEIEB
x B (0 98 147 173 195 205 222 199 160 120 76
- [ 0 ({B/mL) o o o] 0 o] o o] o o o
X 12} Tz Mz ] Az ] Az ] Az ] Mz
NAERIDARUZ OIS M me/L| <O0003 <00003 <00003 <0O0003 <0O0003 <00003 <00003 <00003 <00003 <00003
KR R U 2 0 it & MW me/L <0.00005 <0,00005 <0.00005
LU YRUZ OIS MWmgL| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001
8 R U 2 o & & ?Wmeg/L 0002 0.002 0002
E % R U 2 Ot & W (meg/LU| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001
A 2 O A b & ¥ meg/L| <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002
B W B £ % (mg/| <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004
IPUEMA A Y RUOEBIEY P Y (me/L) <0.001 <0.001 <0.001
HWREBEERVBEBRBEEER me/L 012 009 007 009 0.10 0.10 017 009 007 011
2 v ARV Z 0O SEMmeL <005 <005 <005 <005 <005 <005 <005 <005 <005 <005
KD RERUZ OIS M me/L 002 <002 002 003 003 003 <002 003 003 003
) 18 1t o3 % (me/L) | <O0002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002
1. 4 — Y #F F Y Y (meg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001
ﬁ;*;,?*‘zﬁi%gg;ﬁg (mg/L)| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001
Yy o2 O O %X % Y (ng/U| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001
F 352 00IFLULU Ym| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001
kU 2 00O I F U Ymeg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001
I > € > (mg/L)| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001
1 ES B (me/L) 005 006 007 009 009 0.10 0.10 008 007 005,
Koy =} u] i13 B (meg/L)| <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002
= 2 u} u] n Vo A (me/b) 0011 0012 0014 0022 0024 0017 0019 0023 0012 0008
> o u] u] B B (me/L 0009 0007 0003 0004 0005 0004 0004 <0002 0003 0007
Y J O E 2 00 X% Y mel| <0001 <0001 <0001 <0001 <0001 0001 <0001 <0001 <0001 <0001
g = B (me/L) <0001 <0001 <0001
e U N D0 X 5 Ymel 0014 0015 0017 0026 0029 0023 0023 0027 0016 0011
gh Y 2 0O 0O B ®meU 0011 0012 0012 0017 0016 0011 0016 0022 0014 0010
JOE YO OOXSY Y m 0003 0003 0003 0004 0005 0005 0004 0004 0004 0003
8 o € I U A (mg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001
AL A P L F B FE Mme <0005 <0005 <0005
B W R U Z DS W meL <002 <002 <002 <002 <002 <002 <002 <002 <002 <002
PILETZOARUZOIESEM me/L <001 <001 001 001 002 002 001 002 <001 <001
% R U 2 O 1t & W me <002 <002 <002 <002 <002 <002 <002 <002 <002 <002
R U 2 0 & W meL <002 <002 <002 <002 <002 <002 <002 <002 <002 <002
FTrRUDARUZOLSEM me/L 75 74 67 80 8.1 92 87 89 93 83
NYAYRUZOSE W meg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001
- D + 7z > (me/L) 78 6.3 60 68 70 79 82 83 8.1 83
ALYDL, RTRYDIALAS(BE) (me/L 218 186 201 228 230 254 187 229 263 249
& F 3 2 m (meg/L) 64 79 76
g« 72 v R @ F 4 A me/L <002 <002 <002
> T 7 2 = > (ueg/L)| <0001 0001 <0001 <0001 <0001 <0001 <0001 <0001 0002 0001
2—XFIAYRILRA = (ug/Ll| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001
¥ o4 Y R @ F K A me/L <0005 <0005 <0005
2 T J - U % (me/L <0.0005 <00005 <0.0005
EHM(2E#KERTOC O B) (me/L 05 04 04 05 06 05 05 08 06 04
S H & 76 76 76 78 7 79 78 78 78 76
(1E%8) RKEZL ®|EBRL 8250 =®BRUL 82825L EBQU 256U BERL RBERL  BEEU
2 = (EH KEEL REBEGL EBEGL BREGL 8282L 282U RSEEL EEBL EBEBL BBLU
& E B <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
b} E (® <01 <01 <01 <01 <01 <01 <01 <01 <01 <01
PYFEYRUVZ OIS (mg/L| <O0005 <00005 <00005 <00005 <00005 <00005 <00005 <00005 <00005 <00005
DS Y RUZ OIS W me/L]| <O0001T <00001 <00001 <00001 <00001 <00001 <00001 <00001 <00001 <00001
Z Yy T WVRUZOESE M meg/| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001
k1. 2 -2 00I%F Y (meg/l| 00002 <00002 <O0002 <00002 <00002 <00002 <00002 <00002 <00002 <00002
i ) T Y (mg/L)| <0001 <0001 <0001 <0001 <0001 0001 <0001 <0001 <0001 <0001
w JYIEY (2-TFUAFYIL) (me/L <0005 <0005
22 15 ES B (me/L) <005 <005
g yooQ07?®kZkUIIL ML 0001 <0001 0001
= ok o o0 5 - bmeglb 0004 0.005 0003
_’i % B & % (me/L 046 046 042 037 068 039 048 027 045 051
2 B it B (me/L) o7 10
B 4. 1-—RrUZODISFY mell| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001
BXF -t —TFLI—FI meg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001
Be s ® (T ON) 4 4
BEMY (Y5 UPEH -18 -13 -15
fiE = ES =4 8 (1B/mL) ¢} ¢}
1, 1 —Y200IFULY M| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001




